Karta pracy nr 3
Na wykonanie jak najwiekszej liczby obliczen masz 25 minut. Czas start!

Zadanie 1

13 +25= 40-4 =
14 + 23 = 50-12 =
9+36= 45 —-34 =
7+48 = 27— 22 =
31+11= 3614 =
23 +8 = 45-11=
30+14 = 19-6=
16 + 18 = 47 -8 =
6 *2= 35:5 =
6 *6= 40 : 4 =
9 *0= 15:3 =
5*7= 36:4=
8 *5= 9:3=

7 *6= 45:5=
9 *3= 18:2 =
4 *Q= 6:2=
Zadanie 2

30:5+10+(3:3*3)=...ccciininnnn.
5*8)-20+7+0-6=...............
7T—4-1+(5*2)= ...,
50*%0)+9:9+4= ...
18:3*3+10= ..ol



Zadanie 3

30+ .....

22+ ...

48 - ....... =13
50-...... =5
17 -...... =12
43 - =33

34+ ...

* to znak mnozenia




